

$$2s - s^2 = A(s+2)(s+4) + B(s-3)(s+4) + C(s)(s+2)$$

$$At \quad s=3$$

$$1 = 3sA$$

$$A = \frac{1}{3s}$$

$$At \quad s=-2$$

$$-9 = -10B$$

$$B = \frac{9}{10}$$

$$At \quad s=-4$$

$$-13 = 14C$$

$$C = -\frac{13}{14}$$

$$y(s) = \frac{1}{3s} \left[ \frac{1}{s-3} \right] + \frac{9}{10} \left[ \frac{1}{s+1} \right] - \frac{13}{14} \left[ \frac{1}{s+4} \right]$$
$$y(t) = \frac{1}{3}e^{3t} + \frac{9}{10}e^{-t} - \frac{13}{14}e^{-4t}$$

$$(v) \frac{dy}{dt} - 6y = e^{3t}$$

$$s^2 y(s) - 5y(s) - y'(s) - 6sy(s) - 6y(s) + ey(s) = \frac{1}{s-3}$$

at  $t=0, y=0, y'=2$

$$s^2 y(s) - 2 - 6sy(s) + ey(s) = \frac{1}{s-3}$$

$$y(s) [s^2 - 6s + e] = \frac{2s-5}{s-3}$$

$$y(s) = \frac{2s-5}{(s-3)(s^2-6s+e)}$$

$$y(s) = \frac{2s-5}{(s-3)(s^2-6s+e)}$$

$$y(s) = \frac{2s-5}{(s-3)(s+2)(s+4)}$$

$$y(s) = \frac{A}{s-3} + \frac{B}{s+2} + \frac{C}{s+4}$$

$$= \frac{A(s+2)(s+4) + B(s-3)(s+4) + C(s-3)(s+2)}{(s-3)(s+2)(s+4)}$$

when  $s = 2$

$$1 = -4 + 6A$$

$$A = \frac{-1}{6} = -0.1\bar{6}$$

$$4 + 6 = \cos^2 2 - \cos^2 2$$

when  $s = 1.4$

$$20 + 2 = 16 + 32A$$

$$A = \frac{20 + 2 - 16}{32} = \frac{6}{32} = 0.1875$$

$$16 + 32 = \cos^2 2 - \cos^2 2$$

At  $s = 3.4$

$$6.32 = 6 + 22C$$

$$C = \frac{6.32 - 6}{22} = \frac{0.32}{22} = 0.0145$$

Using appropriate values for all decimals.

$$y(s) = \frac{1}{s+1} + \frac{1}{s-3}$$

$$y(s) = \frac{1}{s+1}$$

$$y(s) = e^{-6t} + e^{3t}$$

$$\textcircled{A} \int_0^x y - 2xy + 5y = e^{2x} \cdot 5 = 5e^{2x}$$

$$s^2 y(s) - 5y(0) - y'(0) - 2 \int_0^x y(s) - y(0) = 5e^{-2s} = \frac{5}{s-2}$$

$$A+B=0, y=2, y'=1$$

$$s^2 y(s) - 5y(0) - 1 - 2s y(s) + 4 - 5y(s) = \frac{5}{s-2}$$

$$s^2 y(s) - 2s - 2s y(s) + 3 - 5y(s) = \frac{5}{s-2}$$

$$y(s) \left[ s^2 - 2s - 5 \right] = \frac{1}{s-2} + 2s - 3$$

$$y(s) = \frac{11s(s-2) - 3(s-2)}{(s-2)(s^2 - 2s - 5)}$$

$$y(s) = \frac{2s^2 - 7s - 2}{(s-2)(s+1.4)}$$

$$(s-2)(s+1.4) \left[ \frac{A}{s-2} + \frac{B}{s+1.4} \right]$$

$$y(s) = \frac{A}{(s-2)} + \frac{B}{(s+1.4)} + \frac{C}{(s-3.4)}$$

$$\Rightarrow \frac{2s^2 - 7s - 2}{(s-2)(s+1.4)(s-3.4)} = \frac{A(s-3.4) + B(s-2)(s-3.4) + C(s-2)(s+1.4)}{(s-2)(s+1.4)(s-3.4)}$$

$$2s^2 - 7s - 2 = A(s+1.4) + B(s-2)(s-3.4) + C(s-2)(s+1.4)$$

$$y(s) = \frac{2s+8}{s(s-4)}$$

$$y(s) = \frac{A}{s} + \frac{B}{s-4}$$

$$= \frac{A(s-4) + Bs}{s(s-4)}$$

$$2s+8 = A(s-4) + Bs$$

$$\text{Wahen } s=0$$

$$8 = -4A$$

$$A = -2$$

$$\text{Wahen } s=4$$

$$16 = 4B$$

$$B = 4$$

$$y(s) = \frac{-2}{s} + \frac{4}{s-4}$$

$$y(t) = -2 + 4e^{4t}$$

$$\begin{aligned} 3Ay &= 0 \\ Ay &= 0 \\ A &= 0 \end{aligned}$$

$$\therefore y(s) = \frac{13}{4} \left( \frac{1}{s-6} \right)$$

$$= \frac{13}{4} \left[ \frac{1}{3} \left( \frac{1}{s-2} \right) \right]$$

$$y(t) = \frac{13}{12} e^{2t}$$

$$\textcircled{3} \frac{dy}{dt} - 4y = 8$$

$$\begin{aligned} sy(s) - y(0) - 4y(s) &= 8/s \\ At = 0, y &= 2 \end{aligned}$$

$$sy(s) - 2 - 4y(s) = 8/s$$

$$y(s) (s-4) = \frac{8/s + 2}{s}$$

$$y(s) [3s-6] = \frac{3s^2+14}{s^2+4}$$

$$y(s) = \frac{3s^2+14}{s^2+4}$$

$$y(s) = \frac{A}{s^2+4} + \frac{C}{3s-6}$$

$$y(s) = \frac{(Ay+B)(3s-6) + C(s^2+4)}{(s^2+4)(3s-6)}$$

$$3s^2+14 = (Ay+B)(3s-6) + C(s^2+4)$$

when  $s=2$

$$26 = 8C$$

$$C = \frac{26}{8} = \frac{13}{4}$$

Comparing coefficients

$$3B = 0$$

$$B = 0$$

$$-6s + 5 = -B$$

$$B = 1$$

$$y(s) = \frac{1}{s+2} + \frac{1}{s+3}$$

$$y(t) = e^{-2t} + e^{-3t}$$

$$\textcircled{2} \quad \frac{dy}{dt} - 6y = \sin 2t$$

$$s[sy(s) - y(s)] - 6y(s) = \frac{2}{s^2 + 4}$$

$$\text{at } t=0, y=1$$

$$3s y(s) - 3y(s) - 6y(s) = \frac{2}{s^2 + 4}$$

$$3s y(s) - 3(1) - 6y(s) = \frac{2}{s^2 + 4}$$

$$3s y(s) - 3y(s) - 6y(s) = \frac{2}{s^2 + 4}$$

$$y[s(3s-9)] = \frac{2}{s^2 + 4} + 3$$



Dagbapu Emmanuel Umofon  
15/EVHO4/041  
FIBUFE UET  
ENM 351

Assignment V

$$\textcircled{1} \frac{dy}{dt} + 3y = e^{2t}$$

$$s y(s) - y(0) + 3y(s) = \frac{1}{s+2}$$

$$\text{at } t=0, y=2$$

$$s y(s) - 2 + 3y(s) = \frac{1}{s+2}$$

$$y(s)(s+3) = \frac{2s+2+1}{s+2}$$

$$y(s) = \frac{2s+5}{(s+2)(s+3)}$$

$$y(s) = \frac{A}{s+2} + \frac{B}{s+3}$$

$$2s+5 = \frac{A(s+3) + B(s+2)}{(s+2)(s+3)}$$

$$2s+5 = A(s+3) + B(s+2)$$

$$\text{when } s = -2$$

$$A = -4 + 5$$

$$A = 1$$

$$\text{when } s = -3$$